sui(3w( g)ouapy — 3 (x)louawy)Sop = (A) f sui(3( g)oua ) — 3 (x)louawy)Sop = (A) f sui(“30( g)oua ) — 5 (x)louawy)Sop = (A) f

Y
Y
Y

1000; X >Y
- 10
-1000;X <Y
1000;X >Y
500
100
50
- 10
F0;X=
-1000;X <Y
1000;X >Y
500
100
50
- 10
FO0;X=
-1000; X <Y

a a a a

D D o] D
a8 B B B
S S5 S5 S8
oo [alke} oo oo
= oo e
= O0 = OO = OO = OO
o n% o n% o n% o n%

P e e e

I Path 1280 (no PMTUD) I Path 1280 (no PMTUD) I Path 1280 (no PMTUD)

o L Path 1280 (no PMTUD) o sy | e L Path 1280 (no PMTUD) 2 L Path 1280 (no PMTUD)
3 L 1280 (no PMTUD) g e | —-—— L 1280 (no PMTUD) g - 1280 (no PMTUD)
3 L 1280 (PMTUD) 4 EEEE wm | 1280 (PMTUD) 3 L 1280 (PMTUD)
5 - 1500 .8 EEEE moEm | EmE [ 1500 g C 1500
8 o L Path 1280 (no PMTUD) 8 o EEEE = mm | Path 1280 (no PMTUD) S o L Path 1280 (no PMTUD)
D o L 1280 (no PMTUD) D e | A - 1280 (no PMTUD) 2 - 1280 (no PMTUD)
S 5 L 1280 (PMTUD) S & EEEE = = mm [ 1280 (PMTUD) S o L 1280 (PMTUD)
33 L 1500 33 peEe | - - 1500 35 - 1500
z 2 2
g 3 5

2 - 1280 (no PMTUD) - 1280 (no PMTUD) - 1280 (no PMTUD)
Q L 1280 (PMTUD) L 1280 (PMTUD) L 1280 (PMTUD)
- I 1500 I 1500 I 1500
o
x 3 I Path 1280 (no PMTUD) 8 I Path 1280 (no PMTUD) 8 I Path 1280 (no PMTUD)
O 3 - 1280 (no PMTUD) § - 1280 (no PMTUD) § - 1280 (no PMTUD)
e 3 - 1280 (PMTUD) %) I 1280 (PMTUD) @) I 1280 (PMTUD)
m m - 1500 m - 1500 m - 1500
Ou o I Path 1280 (no PMTUD) © 3 I Path 1280 (no PMTUD) © 3 - Path 1280 (no PMTUD)
- - 1280 (no PMTUD) & = - 1280 (no PMTUD) 5 o - 1280 (no PMTUD)
o 9 - 1280 (PMTUD) = g - 1280 (PMTUD) =8 - 1280 (PMTUD)
m - 1500 m - 1500 m - 1500
o I Path 1280 (no PMTUD) o I Path 1280 (no PMTUD) o I Path 1280 (no PMTUD)
@ - 1280 (no PMTUD) 2 - 1280 (no PMTUD) 2 - 1280 (no PMTUD)
g I 1280 (PMTUD) 2 - 1280 (PMTUD) 9 - 1280 (PMTUD)
3 - 1500 3 - 1500 3 - 1500

L Path 1280 (no PMTUD)
L 1280 (no PMTUD)

L 1280 (PMTUD)

L 1500

L Path 1280 (no PMTUD)
L 1280 M:o_u TUD)

L Path 1280 (no PMTUD)
L 1280 (no PMTUD)

L 1280 (PMTUD)

L 1500

L Path 1280 (no PMTUD)
L 1280 Mzow TUD)

L Path 1280 (no PMTUD)
L 1280 (no PMTUD)

L 1280 (PMTUD)

L 1500

L Path 1280 (no PMTUD)
L 1280 M:o_u TUD)

IPv4

EDNS0:512 EDNSQ:1232 EDNSD:4096
IPv4

EDNS0:512 EDNSP:1232 EDNSP:4096

- 1280 (PMTUD) - 1280 (PMTUD) 1280 (PMTUD)
- 1500 - 1500 HEE I 1500
I Path 1280 (no PMTUD) EEEE - Path 1280 (no PMTUD)
- 1280 (no PMTUD) [T 11 - 1280 (no PMTUD)
- 1280 (PMTUD) [ T 1] - 1280 (PMTUD)
I 1500 T[] I 1500

All Zones with DNSSEC returning NOERROR for “.org’

IPv4
EDNS0:512 EDNSP:1232 EDNSD:4096

All Zones without DNSSEC returnin
All Zones returning NOERROR for “.org’

T T T T T T T T T T I~ T T T T T T T T T T T T T T T T
2IG:0SNA3 2€2H:0SNA3 9607:0SNA3  2LG:0SNA3 262L:0SNA3 960:0SNA3  2+G:0SNA3 262H0SNA3I 9607:0SNA3I 2IG:0SNA3 262H0SNA3 9607:0SNA3  2LG:0SNAT 2€2L:0SNA3 9607:0SNA3  2hG:0SNA3 262H0SNAI 960¥:0SNA3 2IG:0SNQ3 262H0SNAT 9607:0SNA3  ZIG:0SNA3 2€2L:0SNA3 9607:0SNA3  2hS:0SNA3 262H0SNAI 960¥:0SNAT
PAdI 9AdI OelS-leng PAdI 9dI oelS-lendg PAdI IdI oElS-lend



